ERELES IR
BE B ¥ BYMES | & H | B B # B £ R | RERAH REBFT
1 —IRELE IR 5 1mg 1 Bbw (RN b4 FEEEE
1 —HREAE SR 5 2mg 2 Ebw ) LEE7N 54 AEEEE
1 —HREAE S 1R 5 5mg 1 BEbw AR k< AEEEE
1 —HREAE S 1R 5 10mg 2 BEbw Rk k< AEEEE
1 —HREAE S 1R 5 20mg 1 BEbw Rk k< AEEEE
1 —HREAE S 1R 5 50mg 1 BEbw AR k< AEEEE
1 —HREAE SR 5 100mg 2 BEbw Rk k< AEEEE
1 —HREAE S 1R 5 200mg 1 BEbw Rk k< AEEEE
1 —IREEE R 5 500mg 1 BEbw AR k< AEEEE
1 —HREAE SR 5 1g 1 BEbw M k< AEEEE
1 —HREAE S 1R 5 2¢g 1 BEbw BIEFi k< AEEEE
1 —HREAE 1R 5 5g 1 BEbw BIEFi k< AEEEE
1 —HREAE S 1R 5 10g 1 BEbw M k< AEEEE
1 —HREAE S 1R 5 20g 1 BEbw BIEFi k< AEEEE
1 —HREAE 1R 5 50g 1 BEbw BIEFi k< AEEEE
1 —IREAE IR 5 100g 1 BEbw M k< AEEEE
1 —IREAE IR 5 200g 1 BEbw BIEFi k< AEEEE
1 —HREAE 1R 5 500g 1 BEbw BIEFi k< ATEEEE
1 —HREAE 1R 5 1kg 1 BEbw b7 oF:d AEEREE
1 —HREAE 1R 5 2kg 2 BEbw M oF:d AEEREE
1 —HREAE 1R 5 5kg 1 BEbw b7 oF:d AEERE
1 —HREAE 1R 5 10kg 1 Bbwp b7 oF:d AEEREE
2 —REAEEDR 1 20kg 50 ek Ly it 647 A ATEEEE
3 TIREREESR 2 500g 2 BEbw b7 647 B AEEREE
4 TIREREENR 2 1kg 10 ek | EBLYE| 648 AEEREE
5 TIREREESR 2 2kg 6 ek | EBLYE| 648 AEEREE
6 TREREESNR 2 bkg 4 7S Ly it 6o A AEEEE
7 TREREESNR 2 10kg 4 7S Ly it 6o B AEEEE
8 CREREESNR 2 20kg 200 EZ g Ly it 658 | ITHADHEES
9 =REREESR 3 500kg 22 R =RaRokit] 6o A THERNH RBLE
10 TREREESNR 2 1000kg | 84 SR =Rkl 658 | IHADHEES
11 CREREESNR 2 5kg 9 S | wBeEVE| 648 AEEEE




